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amine the significance of the Revolt of 1857 with specia]

. Cnticallyex
Bihar.
gm;:?rfqﬁﬂ#ﬁﬁ zss?-ﬁmzﬁmﬁﬁmﬁaﬂ
5 Discuss the main causes of the San thal Uprising. What were its conseqyen
2
mm#g@mmmﬁmrm T I BT ?
i i lam Paintings.
3 Bring out the salient features ofthe Patna Qu 3
‘vz wom faaFRl’ &1 FIE =1 AV g
4  What was the significance of Champaran Satyagraha for Peasant Upﬁs,—ngs
2
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Define Nationalism. How was it addressed by Rabindranath Tagore ? ¢
T F SR S T S 6 S v SR ey ;

Discuss the relevance of Nehru in the making of modern India ? %
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What do you understand by climate change 7 What reasons are
climate change ? What missions have been constituted under
Action Plan on climate change formulated by the Government 6f India
steps have been taken in this regard by the Bihar Government? Dis ;
fuifia forg e € 7 firem o 20 39 WA AR 5 sen R E]
&  Inthe absence of well-educated and organised local Jevel government system,
Panchayats and Samitis have remained maidly pélitical institutios and are not
effective instrument of governance € nificallydiseuss. 25
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T, WA T FAr T it A e g g 3w
T T T e da i)

9. Public health system has limitations in providing universal health coverags:
e

=~

Do you think that private sector can help in bridging the gap ? What othef
ii

viable alternatives do you suggest 7
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10, Terrorism activities and mutual distrust have clouded India-Pakistan relation:
> . H s
To what extent the use of soft power like sports and cultural exchange could
help to generate goodwill between the two countries ? Discuss with suitable

examples, 25
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11. Study the fol[ow;f-hg piechan and ratio table, which show the percentage of
students in daffmmt subjects in a university and ratio of male and female
students in different subjects, respectively, and answer the questions given

below : -
P Percentage of students in Percentage of students in
[ferent subjects in the university different subjects in the university
2 Subject Male : Female

Economics 34
Computer 5:3
Commerce Sl
[Ars~ i
Science 8

4
|Management|  6:3

Total number of students = 4800
What is the ratio of male students studying Science and Arts subjects in

(a)
the university ? .

()  Ifin the next year, the percentage of students in Computer subject in
expected to be double, assuming that the total number of students in the
university and male-female ratio in every subject do not change, what
would be the percentage of female students in Computer out of the total
students in the university ?

(¢) Thedifference between male and female students studying Arts is how
much percentage of the difference between male and female students
studying Science ?

(@ Whatanglein apie chart will be formed at the centre of the circle by the
sector showing the female students studying Commerce in the university?
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o .\: u”\\ ich commodity is the highestpcrcemul’its production
= 37 exported ? Give the percentage value alsg, 4
) 1w g 1 O
| 5_“"": 3 (c)  Wha IT the difference of pereentage of tea and jute tmport of their
BT ] 5:7 fespeetive production ?
4 p n’
I g () Ifforthe Country Y the rati i X
crr : untry Y the ratio ol‘prcx]ucnon,cxpart and import for cotton
13}3"{ v i 5:4: 3 and production of cotton in Vis same as in X, what quantity of
- 63 cotton will be cexported and imported from the C ountry ¥ 6
R {¢) By which quantity the,export of sugar should be increased so that the
) _ difference betiveertits production and export is 2.5 times its import ? 6
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production, export and import (in million kg) of various cumrﬁn_dmeit‘)yl(_;&;m-r 1 =3
X and answer the questions given below : Py, V¥ 100 E
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13. Study the following

(a)

M)
(c)

id)

fe)
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®

P 1 2.5 T @ g _
graphs an J answer the questions given below :

s in Production and Productivity of Rice

Tren
Yield
. proaucrion (kg per'ﬁectare
il bags of b0 kg act) 0 )

%
H 1150
3
2 1100
1 1050 L5
10; |
9 i 1000 —
8— i
] .J ' |i [ ] 850 =
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28588 % S 2SS 8832
-~ o Ly :
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[/
What was the percentage increase in rice production from t(?]% ;
0610 2006-07 ? “tz % 3

In how many hectares was rice cultivated in the }eag‘fﬂ:%% 4
What was the percentage increase in rice cultivation a%g’&om the year
N\t |

20064070 20007087 4N 4
In which year has the rice production Wﬁe Ii?ghcst increase ML
; ) /% 3
that in the previous year ? o~ T f 3
) o y g o
The rice cultivation area in th&w’wﬁﬂ is what percent of that
2005067 ~7 1
What is the average rice production in the six years during 2004-0510
2009-107 3

Assuming the price ofrice to be Rs, 900 per quintal, what would a farmer
havecarned ifhe had grown rice in 10 hectares in the year 20{}8-09?
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Study the following line graph which gives the income of three Companies A,
B and C during the period from 2006 to 2013 and answer the questions that
follow :

Income of three Companies (in lakhs rupees)
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f

—— Compa A
- c“nﬂﬁ:l?f‘ﬂ
—+— Company ¢ 1

a6 W07 208 W9 200 2 202 gy

What is the percentage increase in the income of Compan YAin 0
compared to 2008 ? by
Whatis the ratio of incomes of Companies A, Band C in 2015
Which Company has steepest rise in its income compared tg
year and what was the percentage rise 7

The total expenditure of Company B in 2009 was Rs, 220 lakhs
was increased by 40% in the year 2010. Find the percentage
earned by the Company B in the year 2010. ;

If the profits earned by the Companies A, B and C in'the ye £ 2040 ;
3%, 1075 and 13%, respectively, find the ratio of th eir tbtal
in that vear. ¢ N ,
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L. Discuss about the Fundamental Rights as enshrined in the Indian Constitution.

How has the judicial interpretations of Article 21 expanded the scope of Right
to Life ? 12%+12% =15
I WM B0 YA Hifes sl @ an it fEe v e 21
F1 =iaF FrETa § e B IR 3 fam-gs w v e e

2 Examinethe role of Caste in electoral politics of India. To what extent did caste
factor play arole in 2015 Bihar electon. 12%:+12=15
et e Tt § it w i w s S fE E 2018 3
I F wfa F gt 3 R d A wat e

3. Analyse tension arcas between Centre and States in the Indian federal system.

Describe the current state of relations between Union Government and Bihar

12%+12% =125
State.
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is iudicial review ? Critically examine about the doctrine of fﬂhwa =
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SECTION : II

What is ‘dcmogmphlc dl\ldmd‘ 2 Exp]ain its lmpac[ on ‘emnﬂmic grow.lh zs
‘s w2 7 sifdE Hafg W TEE UME F o ;
Describe ‘agricultural marketing” in India and write the defeets in the ‘agri
marketing system’. What measures have been taken by the Govemmm
Bihar to improve the system of the marketing of agricultural producys » %
i iy . m ! x
v o ‘T famom @ vl it wE T Ao ey aﬁm&qm
m;@-hmﬁqmmnﬁﬁmaﬁifqﬁﬁmmm?mm
fram#? _.
Whatis the relationship between ‘environmental protection’ an;i Susta
development” ? Write a short note on economic growth and egwg 1men
degradation in India. . L .o N\
T e A9 s R e 7 T
TR AT W T W e fafa)
What do you mean by regional development ?

How far regional planning has been successful in'the econbinic development
of Bihar ? Discuss. g

!

a'a

In comparison to other countries, India is well-endowed with freshwater
resources. Critically examine why it still suffers from water scarcity. Whatrolé
can the scientific management ang technology play in overcoming this problem?!
Elucidate, 2
miﬁﬁmﬂ.mmwﬁwﬁqma. TGS
mﬁmﬁsmmm—mmwwﬂmii*ﬂ
wnmammmm#ﬁmﬁmmgm% ?
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10. In order to fulfill the increasing ene
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1y demand in Bipgr State, suggest the

scientific initiatives that you would like to introduyce, 25
fqmmﬁnﬁmiaﬁﬂmm‘aﬁ@mﬁa&haamm
T A A, o e e

Critically discuss the Positive and negative effects of globalization in India,
How can science and technology reduce negative effects ? Explain,

e
uTE HEEHT f i
RELE ] ST Fiey

The key issues of Modi Government in India are “cleaning of Ganga river,
" y

degraded nattraf resources and dwindling farmlands, and greater health risks.”

gjiéd”s‘s@gfi&tiﬁc initiatives for these problems that you would like to apply,
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